Determine the first derivative of each of the following:

l. f(x)=-5
f'(x)=0
4. f(x)="7x"

4 2 4

f@=72x ==

x7

7. f(x)=9"

£'(x)=9" In5-3x>

10. f(x)=e’
f'(x)=0

13. f(x)=In7x
= L.7=1
Jle)s—— ==

16. f(x)=log,x

1
xIn5

f'(x)=

19. f(x)=sin2x

f'(x)=cos2x-2

Derivative Exam

2. f(x)=x°
f'(x)=0
5. f(x)=5"

f'(x)=5"In5

8. f(x)=Bx+5)*

[1(x)=4Bx+5) -3
f'(x)=12(3x +5)°

11. f(x)=e™
f0)=e =3

14. f(x)=Inx’

F@)=—go5xt =2
X X

17. £(x) = log,(3x>)

S )=

5 -6x
3x°In3

2
xIn3

S )=

20. f(x) = sin5x’

f'(x) =cos5x” -10x

3. f(x)=-3x"
f(x)=-3--5x° zl—z
X
6. f(x)=7%

f'(x)=7"In7-6

9. f(x)= (x2 -3x°%)°

f'(x)=5(x* -3x)* - (2x—18x7)
f'(x)=5-(x)*"1-3x"" - 2x(1-9x")
f'(x)=10x""(1-3x*")*(1-9x")

12. f(x)=e®D
f'(x)= e . 10x

15. f(x)=In*x
;1
£1(x) = 4(nxy* -~
X

18. f(x)=log,(3x* -1)°

1
(3x*=1)’In4
18x
(3x* -1)In4

(%)=

S =

21. f(x)=sin*2x

33x% —1)% - 6x

f'(x) = 4(sin 2x)° - cos 2x - 2



22. f(x)=cos9x
f'(x) =—sin9%x-9
24. f(x)=cos’ 2x’

f'(x) =3(cos2x?)* - —sin 2x” - 4x
f'(x) = —12x(cos2x?)* sin 2x°

26. f(x)=4x>-3x" +x"

2
f'(x)=8x-3-—4x" +§x3
2

f'(x)=8x+%+§x5
x> 3

28 f(x) — Ssin(x3+5)

F1(x) =5 . In5-cos(x® +5)-3x°

30. f(x)=log, cos(In5x)

1

f'(x) ——-—sin(lnSx)~5L~5
X

- cos(In5x)In3
1

f@=- cos(In5x)In3

-sin(In5x) A
X

23. f(x) =(cosx’)’

f'(x) =5(cosx’)* - —sinx’ - 3x?

f'(x)=—15x(cosx’)* -sinx’

25. f(x)=Inx’ +x°
1 5
S'(x)=—-3x"+2x
x
f'(x):l+2x
X
27. f(x) =sin(Inx?)

f'(x):cos(lnxz)-%ax
X

f'(x)= cos(lnxz)-%
x

29. f(x) =cossincosSx

f'(x) =—sinsincos5x-coscosSx-—sinSx -5



